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M ABSCLUTE MAXIMUM RATINGS (Ta=25°C)

(Dimensions in mm)

(JEDEC TO-220AB)

o ltem Symbol 2SD1377E Unit .
Collector to base voltage Vceo 12(; N

Collector to emitler voltage | VCEO 120” - A%
Emitter to base voltage VEBO 7 ' AY
Collector current Ic 8 A
Collector peak current ic(peak) 12 ! A
Collector power dissipation | Pc* : 40 W
Junction temperature Tj : 150 | °C
Storage temperature T’.‘F i —5510 +150 °C

* Value at Tc = 25°C.,

M ELECTRICAL CHARACTERISTICS (Ta=25°C)
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MAXIMUM COLLECTOR DISSIPATION

Collector power dissipation Pe (W)
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Case temperature Te (°C)

ltern Symbol ~ TestCondition mir, typ. max Unit
Collector to emitter breakdown voltage | VBRICEO | o =25mA, RBE = ¢ bo120 - — v
Emitter to base breakdown voltage Viprieso | IE=350mA, lc=0 | 7 — — v
Icpo Ve = 120V, [5=0 - — 100 A
Collector cutoff current - e acd
Iceo VCE = 100V, RBE = oo e - 1o HA
DC current transfer ratio hiE VeE =3V, Ic=4A" 1000 —- | 20000
) . VCELsa)l Ic=4A, Is = 8mA” — — 1.5 v
Collector to emitter saturation vollage |- — e
VeEsay2 | lo=8A, Ip = B0mA' - - 3.0 Y
) . VBE(sathl Ic=4A, Is = 8BmA’ — — 1 20 v
Base 1o emitter saturation vollage E— e
Ic=8A, Ip = 80mA" — — 1 35 %
Y ; . ! . !
Turn on time ton ! — 05 | — us
Storage time tsig | lc=4A, Is1 = -Ip2 = BmA s 5.4 : - us
Fall time If - [ L1 e us

* Pulse Test.
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AREA OF SAFE OPERATION TYPICAL OUTPUT CHARACTERISTICS
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